Why Aren’t Elephants Allowed On The Beach?

Circle the letter of the correct choice. Write this letter in each box at the bottom of the
page that contains the number of the exercise.
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It can be proved that there is no terminating decimal that, when squared,
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It can be proved that the square root of every whole number is an irrational
number unless the number is
(T) a perfect square (S) not a perfect square

@ equals exactly 2. So the decimal for V2 in a square root table, when (@
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There is no terminating decimal that, when squared, equals 2. It can also be '?55
e proved that there is no repeating decimal that, when squared, equals 2. =
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2o Therefore, V2is
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‘:-;‘gf A decimal that never terminates, and never repeats, represents an irrational
er. @ number. The decimal for V2 never terminates or repeats. Therefore, V2 is
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Why Did the Teacher Assign %@}
Extra Homework When She
Taught Adolescents?

3 Find which two consecutive whole numbers the square root is between. Write the E
% letter of the exercise on the number line between these two numbers. E
3| Use the top number line for the first set of exercises, and the bottom number line E
3| for the rest. E
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